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Note :

INTERNATIONAL AND AREA STUDIES
PAPER - III

This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

Chronologically arrange the international human rights treaties in the ascending order using
the codes given below according to date of adoption.

(a) Convention on the Rights of the Child

(b) Convention on the Rights of Persons with Disabilities
(c) International Convenant on Civil and Political Rights
(d) Convention against Torture and Other Cruel, Inhuman, or Degrading Treatment or
Punishment
Codes :
D (@) ®) () (d) 2) (9, (d), (a) (b)
©G)  (®) (©) (d) (@ @) (d), @) () (©)
2. Under which theoretical persuasion would Daniel Deudney and G. John Ikenberry be
placed ?
(1) Republican Liberalism (2)  Sociological Liberalism
(3) Structural Liberalism (4) Interdependent Liberalism
3.  The Global Financial Crisis of 2008 originated first in which one of the following countries ?
(1) UK (2) Indonesia (3) France (4) USA
4.  Who among the following scholars stated that “brute force succeeds when it is used, whereas
the power to hurt is most successful when held in reserve. It is the threat of damage... that
can make someone yield or comply”.
(1) Barry Buzan (2)  Ashley Tellis
(3) Thomas Schelling (4) George Kennan
5.  Who among the following strategic thinkers articulated the idea of “Push to the utmost” in
waging a war ?
(1) Carl Von Clausewitz (2)  Quincy Wright
Liddell Hart (4) A.Jomini
HII“IIHII\I“H JAHRCTA z Faper
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frefafed i &1 99 F30 gU S THaTusR il w1 FIehaER IR %Y | SiaR
FH Hi faf & TTER et iy :

(a) o STTUHR Faeh HIavH |

(b) e Afaal & AfywR Gael FavE |

(c) S fafaa iR TeHifas TR yEfaer

(d) I SR T AT, STHHAIAT LA STIHFSTFR FTER LA Tl & foeg HAAIA |

e :
1 (@), () (), (d) 2) (o), (d), (a), (b)
@) (b), (), (d), (a) 4)  (d), (@), (b), (9)

e gget ot it 9 shet o Freafafed # @ fa Sgifas o & staid Y@ < Hehel
8?2

(1) T SENETR (2) EHISh IERET

(3) EIETHE 3SRATR (4) SEARTHT SRR

ad 2008 # afvaek faxita Hehe 1 yeema f=fafad <9 § @ ¥d gem el g8 off ?
1) I (2) sEMfEn (B) Wi (4) JTHT

Trefafed o @ fog fagm = wer o1 fe * srfaaet drerd a¥t Thel Bidl & STa 9ehT SEIHT TohaT STl
B, Wi 3Ted L ) Afed o 1ferer qsft gwat Bl © 5 39 31fard w9 | enfid foran Sin ©1
7g &1fd o1 TaU ¥ ... ST SAfad il THI KU Tehdl § ST TR A & foTw e wH gwhar g1’
(1) 90 g (2) T feg
(3)  oH| e (4) SIS R

frefafed & 9 forg amfe faare 3 3¢ 0 & IRA Y @ 2 < e’ &1 fa=m gfqafeq fean
o1 ?

(1) ict 9 FASSIOES () Tt wze
(@) faca e (4) T A
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Which one of the following treaties legitimised satellite travel access over any point on Earth
in 1967 ?

(1) C.W. Convention (2) B.W. Convention
(3) Sea-Bed Treaty (4) Outer - Space Treaty

Match List-I (Theorists) with List-II (Theories) using the codes given below :
List-I List-II

(a) Peter Katzenstein (i) Post-structuralism
(b) Richard Ashley (i) Post-colonialism
(c) Edward Said (iii) Dependency
(d) A.G. Frank (iv) Social Constructivism
Codes :

(@ (b) (9 (d)
1 @) @ @ (1)
() Gv) @ @) (i)
G) @ (@) (@v) (i)
4 @) (v) @) ()

Which of the following statements are true for Post-structuralism using the codes given
below ?

(a) All knowledge reflects the interests of the observer

(b) Knowledge and Power are intimately related

(c) Decolonising strategies are those that problematise

(d) IR is constructed around the exclusionary premise of an imagined Western subject.
Codes :

(1) (a) and (d) are correct (2) (a) and (c) are correct

(3) (a) and (b) are correct (4) (b) and (d) are correct

Who among the following stated that “internal challenges are like lurking hood of a snake.....
either crippled or brought under full control” ?

(1) Carl Von Clausewitz (2) Kautilya
(3) J.F. Kennedy (4) J.L. Nehru
g || ; Fapeca




. freAfafea 4§ @ fea 9fa & g ad 1967 # et W fFEt off T & SR @ STUE AT HI AY A

T AT 7
(1) dies, gy (2) dtesq, dfy
(@) Hi-d g@fy (4) 9 SHafiy |y
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el - 1 T - 11
(a) X i () ST EHEATER
(b) = w (i) SW-YMATER
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d) TS %ew (iv) EHISTeR TeATerg
e :

@@ (b)) (o (d)
) () @) @ @)
) () (@) @) (
) (@) () (v) ()
) () (v) () (

=

iv)

. Trefafed £ &1 7@ R g SW-GEEE % fou f= § @ SF-8 e 99 e

(a) T YHR F FH ST HI T4 HI IRaAT F T |
(b) T IR v o T g 2|
() SafavrETg 1 FHTE HIA F1 WHIGET 3 § S SHfeaar I it €

(d) STUSHE FWY (3E.3R.) H Yo Hicad qRard fomg-a5g & fafite o1aR & =[i 8k
fopan e ¥

T:Ed‘ :
(1) (a) 3R (d) =& ¥ | 2) (a) 3R (c) TE ¥
(3) (a) 3R (b) T ¥ 4) (b) R (d) T T
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(1) e 91 FARSIaes 2) wife
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10. According to Carl Von Clausewitz, “War is never an isolated act”, and involved a “Holy
Trinity”. Which one of the following is excluded from his concept of “Holy Trinity” ?
(1) The armed force (2) The state (3) The population (4) Technology
11. Identify the correct code for the Assertion (A) and Reason (R) as given below :
Assertion (A) : Today Americans, Indians and Pakistanis share the dubious distinction of
being nuclear weapons states. All have awesome power to destroy.
Reason (R) : They urgently need to seek a better future and, at the same time, require to
ensure that their actions never lead to Armageddon.
Codes :
(1)  (A) is correct, but (R) is not correct
(2)  (A) is not correct, but (R) is correct
(3) Both (A) and (R) are correct
(4) Both (A) and (R) are not correct
12. The convention on the prohibition of the Development, Production and Stockpiling of
Bacteriological (Biological) and Toxin Weapons and their Destruction was signed on :
(1) March 10, 1972 (2) April 10, 1972
(3) January 10, 1972 (4) December 10, 1972
13. The Chemical Weapons Convention (CWC) was adopted by the Conference on Disarmament
(CD) in Geneva on :
(1) September 3, 1992 (2) September 3, 1993
(3) April 30, 1997 (4) January 3, 1993
14. Match the following operations given in List-I with their respective year of occurrence in
List-II and use the code given below.
List - I List-II
(operations) (year)
(a) Operation Brass Tacks @i 1993
(b) Operation Searchlight (i) 2011
(c) Operation Swan (i) 1971
(d) Operation Jeronimo (iv) 1986
Codes :
@@ () (o) (d)
® @ @ 3G (@)
2) @(v) @) @ ()
() G (@Gv) () @)
@ @) @@ Gv) (i)
poors AR ; —




10. FHA IH FASSIGS F STER, g F guUw FA T e €, R 39 qug Bra!! wa g
frefafed # 9 &1 @1 37 'qva B’ & fagra 9 I g ?
(1) G & 2) T (3) SHEE

(4) UrEfTER?

11. SRR (A) 3R &ROT (R) & forw fAfafad § 9 9@ %2 #1 98am &Y
AMRIT (A) : 3T TR, R TR Tifreart Feft T e Toa= Toel & &9 H Hageae
TEa o T § | 37 9 Ul & e fa e =) 9o ufe ©
;IR dhTl SgdX oS T A HT STEvIRAT § SR WY € % 9% off ghfved
A T AAYIHAT © TF 3AF Fd Fwt oft gerfamwr =1 feafa 7 @

T (R)

< :

1) (A) T T, g (R) @& 72 71
2) (A)F& T T, fhg (R) 9T 2
(B) (A) 3R (R) I T

(4) (A) 3R (R) A &t &

12. <ifaew IR fauea sfoaml & fasm, S iR 999 & f9y w9 3% foe fou S & 99 &

FW el FEER fohT T ?
(1) 10 =T, 1972 2) 10 3T¥d, 1972
(3) 10 SHaR, 1972 (4) 10 feEwR, 1972

13. Tr=fafea § 9 feg fafy = Sqen § fsie ge a@em (9e)) o vt gfoem amga
(St.esg ®.) I SATfieha foparm T ?
(1) 3 fgawr, 1992 (2)
(3) 30 T8d, 1997 (4)

3 faawr, 1993
3 S9ed, 1993

14. et - 1 ¥H Sfeafea &= Sfaeti &1 Gt - 1§ 576 Y& 81 & 99 & q@19 gafaa sive 8k
Frefafed e %1 gam s |

et - 1

( AT )
(a) STIRME 9 T (i)
(b) STIRM ¥d wmEe (i)
(c) STRH WM (i)
(d) STIREE S (iv)
%< :

@ (b) () (d)
1 @ G () (i)
() (v) (D) @) (i)
G) Gi) @) @ ()
4) @) @@ (@v) (i)
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15. Which one of the following is not termed as dual use technologies being used for national
security ?

(1) Optical sensors (2) Microelectronic chips

(3) Nano systems 4) CTF

16. Which one of the following missiles is designed and produced as a joint venture and named
after two rivers ?

(1) Nag (2) BrahMos

(3) Sagarika (4) Prithvi SS-150/250/350

17. Identity the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : States aspiring to be leaders of Islam, such as Saudi Arabia, Iran, Pakistan,
Turkey and potentially Indonesia, compete for influence in the Muslim
world.

Reason (R) : No one of them is in a strong position to mediate conflicts within Islam; and
no one of them is able to act authoritatively on behalf of Islam in dealing
with intra-state conflicts or regime changes, especially in West Asia.

Codes :

(1) Both (A) and (R) are not correct

(2) Both (A) and (R) are correct, but (R) is not a comprehensive dicourse of (A)

(3) (A) is correct, but (R) is not correct

(4)  (A) is not correct, but (R) is correct

18. Match the authors mentioned in List-I with their books mentioned in List-II with the help of
codes given below :
List-I List-1I
(Authors) (Books)

(a) Gamal Abdel Nasser (i)  Revolt on the Nile

(b) Muammar Gaddafi (i) Nutuk (The Speech)

(c) Anwar Sadat (iii) Philosophy of Revolution

(d) Kamal Ataturk (iv) Green Book

Codes :

@@ (b) (o) (d)

1) G @) @ )

@ Gv) @) @

@) G @ @) ()

@ O @) (v G

poors AR : —
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Tt - 19 feartad gt o1 gt - 118 fafea g & are 9= fSu 1 g #t 9eea | gafad
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et - 1 et - 11
(= ) (& )
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(b) IR TR (i) I (T &)
(c) TR 9IRd (iti) TrarEH diE R
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19. The phrase “The Revolt in the Desert” is referred to which one of the following ?
(1) Democratic upheaval that shook the Arab world in recent past
(2) Palestinians struggle against Israel
(3) The Arab uprising led by the Sharif of Mecca against the Ottoman Empire during
World War I
(4) Nasser’s action of nationalising the Suez Canal
20. Match the List-I (leaders) with List-II (countries) and give correct answer with the help of
the codes given below :
List-I List-1I
(Leaders) (Countries)
(a) Ahmad Ben Bella (i) Soudi Arab
(b) Boutros-Boutros-Ghali (i) Israel
(c) Moshe Dayan (iii) Algeria
(d) Ibn Abdel Aziz Feisal (iv) Egypt
Codes :
(@ (b) (o) (d)
W) (W) ) @ 0
@ (v @ O
@) () (O @) @)
) @(v) @) @ ()
21. Which one of the following non-state actors is involved in illicit natural oil resource exploitation
and trade in West Asia ?
(1) Hisbullah (2) ISIS (3) Hamas (4) Al Qaeda
22. Chronologically arrange in the ascending order the following events in Vietnam by using
the codes given below :
(a) The Sino-Vietnam war
(b) Ngo Dinh Diem assassinated
() The US-Vietham Peace Agreement in Paris
(d) Vietnam Joined ASEAN
Codes :
1) (), (©), (b), (@) ) (b), (©) (@) (d)
(3) @, () (©) (d) ) (©) (@) (d), (b)
poors [ REANRCA AT 10 papeca
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d) IR A Bt (iv) fa&
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G) G (@@ 3D ()
(4) (v) (i) @ (i)

frefafed & & ®F 91 AH-We Taed IR SMEA €71 9 afvad Then § wiefaes ad 9ere & S iR
R H el € ?

(1) festoeen (2) 373.TH.3E.TH. (3) M (4) A HES

= U T FH T FAM FA U foaa m w1 F59 weA1el &l FIahA{aR ARIE®T § Fareed
HifS
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23. In which year did Sukarno launch the “confrontation” campaign against Malaysia ?
(1) 1960 (2) 1963 (3) 1964 (4) 1959
24. Which one of the following countries is not a party to claim the area in the South China
Sea ?
(1) Japan (2) Vietnam (3) Malaysia (4) China
25. Match the companies involved in oil exploration in South China Sea as given in List-I with
their respective country of origin in List-II with the help of the code mentioned below.
List-I List-1I
(Companies) (Country)

(a) Bright Oil and Fosun (i)  Australia

(b) Harvest Natural Resources (i) Canada

(c) Talisman (iii) USA

(d) Roc (iv) China

Codes :

@@ () (o (d)
1) Gv) @) @ 0
@ O @ @) @)
@) @ Gv) @ i)
@) @ G ) 0
26. Who succeeded Suharto as President of Indonesia in 1998 ?

(1) Megawati Sukarnoputri (2) B.J. Habibe

(3) Abdur rahman Wahid (4) Susilo Bambang Yudhoyono
27. Identify the correct code for the Assertion (A) and Reason (R).

Assertion (A) : South East Asia’s economic success has been achieved at the expense of its
environment.

Reason (R) : There is also a type of air pollution specific to South East Asia called haze
problem, pollution is caused by deliberately set fires to clean land for
plantations to grow cash crops.

Codes :

(1) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(2) Both (A) and (R) are true and (R) is the correct explanation of (A)

(3)  (A) is true, but (R) is false

(4) (A) is false, but (R) is true

voors [I{NHITHARRANII % papera




23. &l A ford 9d Fqaifvren & fovg Fud At 3 fovan on ?
(1) 1960 2) 1963 (3) 1964 4) 1959

24. freAifea <o o | 9 feqor =19 R § S99 &5 1 e A&l Al § 2
(1) SmH 2) fooraam (3) Wit (4) =M

25. SO = g W O WIS & fow e S wetEi e € 2 get - L6 g - 1 E gAfad &3 g
T Fe 1 afed Fifo :

it - 1 et - 11
(wwafEr ) (1)
(a) TEE T SR HigA () emfaa
(b) TRAR AR REEw (ii) AT
(c) dTeATEeT (i) I THT
(d U= (iv) =M
%<
(@ (b) (o) (d)
1) (v) @) @) @)
@ @ G @) )
3) ) (v) (@) (i)
(4) () @) (@Gv) (@)

26. 1998 ® forda gerdl & o1 TSR % Twgufd & &9 § I Frwel ?
(1) Tt YeRomgsh (2) &S, geltE
(3) feIglEn™ e (4) gfEe =T g

27. AR (A) 3R Tk (R) o AT W& F2 HT 9891 |
afamRe (A): s - ud uftmn 1 stftfe fashme s wateRoT i wiHd W e ¥
T+ (R) ;e - od wfern § U fae R 1 a1y ugwm €, Y gy geen sel 5 g,
THS HEE TSl B F TAIC Smrart 29 fH 1 9w % A SRt @
S T ST § Y0 Il ¢ |

A

) (A) 3R (R) <1 W&t € g (R), (A) T FET =18 T 7
) (A) 3R (R) T FE T SR (R), (A) HT FE AT
) (A) EEE, fohg (R) T T

(A) TeTd &, fohg (R) ¥ 2
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28. The tenure of Dr. Mahathir Mohammed as Prime Minister of Malaysia lasted for :
(1) 20 years (2) 23 years (3) 21 years (4) 22 years
29. In which year did Thaksin Shinawatra become the Prime Minister of Thailand ?
(1) 2002 (2) 2000 (3) 2001 (4) 2003
30. Arrange the following events in ascending chronological order with the help of codes given
below :
Events :
(a) UDI Declaration
(b) The Congo crisis
(c) Rwanda Genocide
(d) Aparthes Policy officially introduced in South Africa
Codes :
1) (©) (d), (@), (b) (2) (@), () (d), (b)
(3)  (b), (d) (@) () @) (d), () @) (¢
31. The new Asia-Africa Strategic Partnership Summit 2015, was held in one of the following
capitals ?
(1) Kampala (2) Jakarta (3) Mogadishu (4) Kuwait City
32. Match the authors mentioned in List-I with their books mentioned in List-II with the help of
codes given below :
List-I List-II
(Authors) (Books)
(a) Kwame Nkrumah (i) The Land of Conflict
(b) Jomo Ken yatta (i) Freedom and Socialism
(c) Nelson Mandela (iii) Africa Must Unite
(d) Julius Nyerere (iv) No Easy Road to Freedom
Codes :
@@ () (o (d)
M @) 0 () G
@ () @) O
@) O @ v G
@) (v) (@) @ 0
33.  Who among the following is the author of the book “Things Fall Apart” ?
Wole So Yinko (2) Chinya Achebe (3) M Coetzee (4) Ben Okri
HII“IIHII\I“HI [N 1 Fapeca




28.

29.

30.

31.

32.

33.

poors 1HNHITMAUR RN

T, HRIR HgWIE 1 AT o YA o €9 § fhad a¥ 1 Hriewm o 2
(1) 20 9H (2) 23 9d (3) 219" (4) 22 9d

ATt F¥mEms f7d a9 aEsaie & guHHEs] 99 9 ?
(1) 2002 (2) 2000 (3) 2001 (4) 2003

Freafafad 2 w1 gerd 9 57 S8l &l FIhAER TR %A § SFafedd &g :
‘eR‘*ITﬁf:

(a) F.NAE. =mon

(b) M ke

(c) Talel THER

(d) <faor etk B enfyreRtfar &9 @ T Hifd 1 @y feEn s

< :
1 (0), (d), (a), (b) 2) (@), (c), (d), (b)
B)  (b), (d), (a), (c) 4)  (d), (b), (@), (c)

T TR - TR R WERR! Frer ww e 2015, fFrefafeaa § 9 fea Tsum o smefsa gan
o1 ?

(1) T (2) @l (3) HRTRIY (4) Foa fa@r

frefafaa fow 7T %l =t Fe@d 9 gt - 11 ST 70 @i & Gt - [ H T 70 3761 &l &
1 gHfera s
Tt - 1 gt - 11
(@ ) ( TET )
(i) T e AF HiwaR
(i) eed Te HifgafasH
c) Ao Hed (ili)  STHIRT A= FARS
(

d) faad 3% iv) 1 3Stt U€ T whied
e :
@@ () (9 (d)
1 @) @ o (Gv) (i)
2 G) @) @ @0
G @ () @v) (i)
(4) (v) () @G) ()

“forg WA U (Things Fall Apart)’’ T&I% % @& i & ?
(1) e HEfs 2) fo=n s (3) TA. st (4) S SR
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34. Match the List-I (countries) with List-II (their old names) and give correct answer with the
help of the codes given below :
List-1 List-1I
(Countries) (Old names)
(a) Ethiopia (i) Dahomy
(b) Ghana (i) Nyasaland
(c) Malawi (iii) Abyssinia
(d) Benin (iv) Gold Coast
Codes :
@@ (b) (o) (d)
O O (v @) G
@ () @) @) 0
@) ) () @ @
@ ) @ O G
35. Match the List-I (colonies) with List-II (colonial powers) by using the codes given below :
List-1 List-I1
(Colonies) (Colonial Powers)
(a) Nigeria (i) Spain
(b) Niger (i) Portugal
(c) Equatorial Guinea (iii) France
(d) Guinea Bissau (iv) Britain
Codes :
(@ (b) (o) (d)
O G @ ) o
@ (v G 0 G
@) () () @) 0
@ O ) @
36. Arrange the following events in the ascending chronological order with the help of codes
given below :
Events :
(a) Partition of Africa (b) Decolonization of Africa
(c) The formation of the African Union  (d) The establishment of the OAU
Codes :
0 @ @ © ® 2) (), (b), (d), (c
3) © ®) @ @ 4) (), @, (), ©
poors AN 1 Faper-




34. gt -1 (W) =l Gt -

11 (0 719) % |19 Fafad w{ AR ST T F2f 1 Femar § 9@ S &

= AL
et - 1 el - 11
(g9r) (I )
(a) Pty (i) <EE
(b) =T (i) —IERIS
(c) Wt (i) CfafgfTn
(@) &= (iv) e hie
%<
@@ () (9 (d)
M @ (v @) (i)
(2) G () @v) ()
@) @) (@Gv) @) ()
4) (v) () @ (i)
35. Gt -1 (UMeeT) & e Gt - 11 (STafTafims gar) 1 gafead & iR 9= T T §i #t ger
q W& W &1 =991 HL|
et -1 it - 11
( JufarsT) ( sfrafrafyre @)
(a) ST G A
(b) FESR (i) g
(c) A i (i) wE
(d) frit fomms (iv) fores
e :
(@ () (9 (d)
1) @) (@) Gv) ()
(2 Gv) (@) @ (i)
G) G (v) (@) ()
“4) @ (@) @) ()
36.

S :
(a)  3THhIHT T T

frefafaa seTstl & frefafad g2 w1 Terd ¥ FeshHTaR ST % H =afed S

(b)  3TShIhT | IUMTe AT BT
(c)  3THhIhI H T T (d) ST.TY, i TEAT
e :
1) (d), (@) (), (b) 2) (@), (®), (d) ()
©G) (), (b), (a), (d) 4)  (b), (@), (d), (c)
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37. Identify the appropriate code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : The two Abrahamanic religions today do not co-exist peacefully in many
parts of Africa.

Reason (R) : One such country is Nigeria that is half Christian and half Muslim. Since
the 1960s Islamization has increased in Northern and Central parts of
Nigeria, where Islamic law and Sharia has been enforced.

Codes :
(1) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(2) Both (A) and (R) are true and (R) is the correct explanation of (A)

)
(3) (A) is true, but (R) is false
(4) (A) is false, but (R) is true

38. Match the ethnic hotspots given in List-I with countries in List-II by using the codes given

below :
List-1 List-I1

(Ethnic hotspots) (Country)
(a) Transdnestria (i) Moldora
(b) Chechnya (i) Georgia
(c) Ossetiya (iii) Russia
(d) Nagerno-karabakh (iv) Azarbijan
Codes :

@@ (b) (o) (d)
O O @ @) @)
@ @O @) @ @)
G) @ @ @v) ()
4) @) G @) )

39. Identify the correct code in descending chronological order of the reign of following Soviet
leaders :
(a) Nikita Khrushchev (b) Mikhail Gorbachev
(¢)  Yuri Andropov (d) Konstantin Chernenko
Codes :
1) (®), (d), (c), (a) (2)  (a), (b), (c), (d)
©G) (@), () (b), (a) @)  (©) (a) (d), (b)
voors [ HINRARO 15




37. RumeA (A) 3RO (R) % forg = fou o 2 § @ 9@ %2 w1 vean

38.

39.

( ) (
o [l

AMURAT (A) : TN STSTEHAT H TSt STRIHT & F2 9N H Wifayder ge-eifaa # 7 &)
HRUT(R) : UH & TH 0 AR & el 3 30 iR ond oo™ €1 T 1960 ¥ &

St & S iR wiem wri # g § gig g §, Wl st S el
vIftra =1 @ feran T 1

(1) (A) ¥R (R) < & T, g (R), (A) 1w = 7 <1
(2) (A) ¥R (R) & €, 3R (R), (A) 1 HE A T |

(3) (A) W T, fohq (R) T €
(4) (A) 7T ¥, fohg (R) 92 B

et - 1 it - 11
(TSIt g ) (qor)
(a) orgeAfE () HeRN
(b) == (i) SISt
(c) stfen (i) ®F
(d) AR FRETE (iv) TS
e :

(@ () (9 (d)
@ @ @) @) Gv)
2 @ (@) @G (@)
G) G) (@@ @v) (i)
(4) @) (@) @ (@0

(a) Taferar ge=a (b) THETEd TRET=E
() IU dguE d) HEf S
e :

1) ®), (d), (), (a) (2) (@), (b), (0), (d)
3) (d), (), (b) (a 4) (9, @), (d), (b

)
l 1

(b), (
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40. Klaipeda is a strategically important port of Russia located in which of the following seas ?
(1) Caspian Sea (2) Baltic Sea (3) Black Sea (4) Sea of Azov
41. Which one of the following faiths is predominantly Russian ?
(1) Islam (2) Buddhism
(3)  Orthodox Christianity (4) Catholicism
42. Match the events given in List-I with year of their occurrence given in List-II by using the
codes given below :
List-I List-II
(Events) (Years)
(a) Russo-Japanese war (i) 1941
(b) Great Patriotic war (i) 1905
(c) War in Afghanistan (i) 1979
(d) Global war on terrorism (iv) 2001
Codes
@@ (b (o) (d)
Mm@ 6 6
@ O @ @ @
@ @ 6 @ G
@ @ G 6@ 0
43. Given below are two statements one labelled as Assertion (A) and the other labelled as
Reason (R). Identify the correct code :
Assertion (A) : The Ukraine is in political turmoil for the past nearly two years that has led
to various political, economic and strategic implications.
Reason (R) : The leadership in Ukraine is indecisive, swinging between the E.U. and
Russia, but the East and the West shall never meet.
Codes :
(1) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(2) Both (A) and (R) are true and (R) is the correct explanation of (A)
(3) Both (A) and (R) are false
(4) (A) is true, but (R) is false
voors [ HNAAINRTI . Papec




40. FAEIS €F H GHNH e | TEh Hea@q0l <O ¢, S (et o 9 forg 9 ¥ feod 72
(1) HfEFaT ¥R (2) wifee® PR (3) WIET AR (4) STSIE AR

41, Tefafaa ¥ @ vo d g s A A e ?
(1) =™ 2 W%
(3) TWREW 39T (4) weifes gd

42. G - 1 <t 7T SeTIsAl Sl el - 1 H U T 37 weiedi o "fed 3 & ad & |rel gafad a3 3R 7=
fou T F2 | W SR H =T FL

el - 1 Tt - 11
(wed) (&)
(a) TI-SUE 4§ () 1941
(b) W< Udfew I§ (i) 1905
(c) STHMTEH g5 (iii) 1979
(d) eIdweR & favg dfe® g5 (iv) 2001
< :
@@ () (9 (d)
1 G @ 3G (Gv)
@ @ @) @) (Gv)
G) @) @) o (v) (i)
(4) (v) (@) @) ()

43. = 3w fou T € 98 @ T F1 AR (A) 3R TH 1 wIOT (R) & €9 H SUATHG fovan e
B HE F2 A T A
AR (A): ok | Tusal < aul | TeHifasw swenfa 8, fraeh wro fafa= ger =it asifae,

anfeler &R g Sfeardrd Sca= & T ¥

WRUT(R) I B gcd aafolg =6 fearfa & R, 3 7009 99 R ¥9 % o9 3ot @ §, fofg @
3R ufy=m o1 fie ) 781 &

< :

(1) (A) 3R (R) T w& €, T (R), (A) T &l =ame =2 &)
2) (A) 3R (R) T TE € IR (R), (A) T F&l =& T |
(3) (A) 3R (R) I 7Terd |

(A) T ® fhg (R) T B
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44. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Identify the correct code :

Assertion (A) : The Commonwealth of independent states has little in common and no
wealth except Russia.

Reason (R) : Commonness in sharing the economy, communication and transport
corridors and security and defence linkages stand disconnected among the
member states leading to their disorientation.

Codes :

(1) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(2) Both (A) and (R) are true and (R) is the correct explanation of (A)

(3) (A) is true, but (R) is false

(4) (A)is false, but (R) is true

45. Match the writers given in List - I with their works in List - II by using the codes given

below :
List-1 List - II

(Writers) (Writings)
(a) Maxim Gorky (i) Anna Karenina
(b)  Fyodor Dostoyevsky (if) Idiot
(c)  Mikhail Sholokhov (iii) And Quiet Flows the Don
(d) Leo Tolstoy (iv) Mother
Codes :

@@ () (o (d)
® @® G G )

4

@i @i 3G  (@v)

)
RATAE RO

(
J-9015
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44. 9 D FeA fu T €, TH | TH I AR (A) TR TH H H/ROT(R) F T H IUATHG fofaqn T

45.

poors ]

B WE FHT H TEAH B
ATURIT (A) : TG ToAl & TgHed H HIE THFA el § 3R &0 % Afafaa w1 995 7=l €1
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(a) o™ TeHT () T
(b) fwRATER <redrdereht () 3fewe
(c) THEEa wWEE (i) TS FME TAl T SH
(d) foan ewem (iv) W
Fe

@@ () (9 (d)

) @) @) @) (
(2) (v) () (i) (
G) @) @O @) (
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46. Identify the correct code for the Assertion (A) and Reason (R) as given below :
Assertion (A) :

Reason (R) :

Codes :
Both (A) and (R) are correct
Both (A) and (R) are not correct

(A) is correct, but (R) is not correct

1)
(2)
€)
(4)

There are challenges to peace from across India’s land, sea and aero-space
frontiers, from terrorism and violence, and from scarcities created by rapidly
depleting resources.

These dynamic challenges call for special measures to ensure a
comprehensive, integrated system of security with five components :
territorial security, internal security, energy security, economic security and
cyber security.

(A) is not correct, but (R) is correct

47. Chronologically arrange the Heads of Government of Sri Lanka in an ascending order, using
the codes given below :

(a) Dudley Senanayake
(b) Mahinda Rajpakse
(c) D.B. Wijetugna

(d) Chandrika Kumaratunga

Codes :

1) @), (d) (o) (b) ) (©) (@), (d), (b)
() (@) (0) (d) (b) @) (b), @), () (d)

48. Match the rivers given in List-I with the countries they pass through given in List-II by using
the codes given below :

List-1 List-1I

(Rivers) (Countries)
(@) Indus (i) China, Myanmar
(b) Irawati (i) India, Pakistan
(c) Brahmaputra (iii) India, Bangladesh
(d) Meghna (iv) Bangladesh
Codes :

@@ () (o (d)
M G 6 G @)
@ @ ) @) @)
@) Gv) i) @ 0
@) @ G O @
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46. Treifera afeRem (A) 3R @&k (R) & faT @& Fe *1 =2  HifST :
ARk (A) :  9RA % FEA WA, Fg iR T & ¥ wifd % forw gHifaat § 1 T iR
& |, It | w2 GEEHl g S 9 H THEE § |
e (R) ;T RS RITAA 1 WEAT F % fo fasiy U erafera € fed s ud
THfohd Y& YHAfvea & 1g &= gRa, ST=atieh YT, ol e, sifefw quan
Y TTgeR GReq —uid 799d € |

(1) <Fi(A) 3R (R) T )
(2) <Fl(A) 3R (R) Terd § |
(3) (A) F&, dfHA (R) Tord B |
(4) (A) e[ AfET (R) TR R

47. 9Gd HIA %A o SR il THR & THEI ! fST TT IS 1 TAN Hd L AT FHifIC
(a) TS FAMMER
(b)  HEIT TSI
(c) St fasigm

(d) =Rt FHARGM

1) (@) () (9, (b) ) (9, (@), (d), (b)
() (@) (0) (d) (b) 4 (b), @), () (d)

48. g - [ H 3 Tft Afeal < Al o1 Gt - 11 H ST TTU S F W W@ He 1 AN F g A
I
T - 1 Tt - 11

(7ST) (39T)
(a) foy @) =, =R
(b) g (i) WRG, Wi
(c) &Y (ili) WRd, SR
(d) wE (iv) SRy
< :

@@ () () (d)
1 @) @ @) ()
2 @ (@ @) (i)
(B) (v) (i) @G) ()
4) @) (v) (@) (i)

)
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49.

50.

51.

52.

53.

54.

M G
voors [I{NHITHARRANII

Who succeeded Chief Justice Iftikhar Chaudhury to the Pakistan Supreme Court ?
(1) Anwar Zaheer Jamali (2) Sajad Ali Shah
(3)  Abdul Hameed Dogar (4) Nasir-ul-Mulk

When the US Central Intelligence Agency detected India’s preparations for a nuclear test in
December 1995, name the US diplomat who persuaded India not to test :

(1) Frank Wisner (2) Strobe Talbott (3) Robert Gates (4) Henry Kissinger

Who among the following warned America in the 1980s that the war in Afghanistan was
creating a “Frankestein Monster” composed of Afghan Pashtun Islamists, Muslim extremists
from around the world, and Pakistan’s ISI ?

(1) Strobe Talbott (2) Jaswant Singh (3) Bill Clinton (4) A.B. Vajpayee
How many administrative divisions are there in Bangladesh ?

@ 7 2 o G) 8 @4 5

Which one of the following is the first political party in Nepal ?
(1) The Gorkha Dal (2)
(3) Nepali National Congress 4)

Nepal Goodwill Party
Praja Parishad

Match List - I (events) with List - II (country) by using the codes given below :

List -1 List - II
(Events) (Country)
(a) Operation Raahat (i) Nepal
(b) Operation Maitri (i) Yemen
(c) Operation Blue Star (iii) India
(d) Operation Desert Storm (iv) Iraq
Codes :

(@ (b) (o) (d)

1 G @ 3G (1)
(2) @) @) @) @)

(®) Gv) (@) @ (D)
(4) (i) (v) (i)

N
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49. IR % GAW & § & AT SHWIER Jred & 918 %A TR g7 ?
(1) 3T SR STHTet (2) ESTE 3Tl 3ME
(3) g gHIT SR (4) TR - 3 - ook
50. 9 fouwer 1995 # J TH. &1 U2a sueferoia TSl bl WRA o qLATY] GX&I01 1 =R 31 Ial =, e
frg 4, w™. TSR 3 9 1 aderon 9 w3 % fore usi fean ?
(1) & faeom 2) wE IR () T feH (4) T HIFER
51. fr=fafed o & fa 1980 ® 7adtent &1 =@l & off foh sTwmfam & 29 aren gg ' heee
HiTe" ol 3T X @ &, TSHH TR I, SEmaret 9 i 9 ke el SR wifesar &t
e G 11T, 37TE. HHTfEd & 2
(1) RWHE Ieare () wHaw fo6g (@) faa faden (4) 31ed foe eIt
52. vy § fohad yemafteE fedtem €2
®n 7 2) o6 @) 8 4) 5
53. frmfafed § 9 w1 F9@ &1 9o TSHIfdw < § 2
(1) TRE1<A (2) ot Tefae T
(3) A YA R (4) I OREg
54. T - [ (FESTAT) I ol - 1 (TJT) & 919 < ST T e F Hemrar § gHfad s
Tl - 1 Tl - 11
(&ee) (qer)
(a)  SATORTH Ted @) e
(b)  IEH #f (i) A
(c) STIEH = ®R (i) WA
(d) SATREH S5 wrH (iv) TH
%<
(@ () (9 (d
1 @ @ 3§D (i)
(2) @) @) (Gv) ()
®) (v) () (@ (i
@) @ (@) @v) (i)
roous [ IEMACAAIN 2 papec




55. Match List - I (Secretary of State) with their respective President of the USA in List - II, by
using the codes given below :

List - I List - II
(Secretary of State) (President)

(a) Frank B. Kellogg (i)  Millard Fillmore

(b) Daniel Webster (i) Woodrow Wilson

(c)  Elihu Root (iii) Calvin Coolidge

(d) Robert Lansing (iv) Theodore Roosevelt

Codes :

(@ (b) (o) (d)

1 Gv) @) G @)

2) @ (v) @) ()

) @) @) @ ()

4 @) @ (@) ()

56. Which US Secretary of State confronted and denounced “Cultural Relativism” at the Vienna
Human Rights Conference between the West and a coalition of Islamic and Confucian
states ?

(1) Henry Kissinger (2) Warren Christopher

(3) Condoleezza Rice (4) Hillary Clinton

57. Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : In many important respects, the United State’s relative power will decline
at an accelerating pace. Some of the US structure of power will flow to
other nations; some (and some of its soft power as well) will find its way
into the hands of non-state actors like multinational corporations.

Reason (R) : It is of a civilization in decline, its share of world political, economic, and
military power going down relative to that of other civilizations.

Codes :

(1)  (A) is correct, but (R) is not correct

(2) Both (A) and (R) are correct

(3) Both (A) and (R) are not correct

(4) (A) is not correct, but (R) is correct

g || T 2 —




55. Heif - I ( foaQyr w5t ) &1 gt - 11§ aftfd 3, T8.0. & %A Tsguiadl § 9 §e i 7eg § gatad
HIT

T - 1 Tt - 11
(fador Wit ) (regafa )
(a) e o e () e fremR
(b) =fFa deex (i) 90 faeem
(c) sfeg & (i) hTfea Hfast
(d) Te amfET (iv) TorRER Eseee
%<
(@ (b) (o) (d)
1 (Gv) @) @) (D)
2 @ (@v) @) (i)
@) () @) @ ()
(4) (D) (@) o (v) (i)

56. Tore sTftt face w30t 7, afvedt <ei TR wTRREE iR sTafis Ui & Tedyd & o= foa # gu
AHa YRR T | ' Fispide Qe & ol Td o= it off ?

(1) T ffEsR 2) @A frEe
(3) SIS U3 @) ettt fores

57. freifera atfireRem (A) @R @eh (R) & fore @& % =+t fafea wifse -
FURTT (A):  FE TeaUl giedl |, T T ST Hi wrifers wfw die 1fd & va=-ga |
T T ST 1 Wi ot T 7 <o vt AR Tfasiia € ok $2 (f5ad
THH! TR o §) S Frel S8 M- Taed o g1 | o1 @ T

e (R) ;. I% Uk YAl H1 YqT ©, 3T WAL St gor T § 58! Af¥ash erifaes, i
3R =1 vifer 1 et = &1 )

< :

(1) (A) ¥, AR (R) 319 R

(2) = (A) 3R (R) T T |

(3) AT (A) 3R (R) 319 T
(A) 31T, AfFT (R) TF R
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58. Arrange in chronological ascending order the US secretaries of Defence According to their
years in office using the codes given below :
(a) Robert McNamara (b) George C. Marshall
(c) Casper Weinberger (d) Charles E. Wilson
Codes :
1) (@) (0 (b), (d) ) (b), (d) (@) ()
®) (9, (b), (d) (@) 4) () @) (0 (b)
59. Who among the following predicted that “the situation between Ukraine and Russia is ripe
for the outbreak of security competition” ?
(1) Henry Kissinger (2) Samuel P. Huntington
(3) John Mearsheimer (4) S. P. Cohen
60. Which, among the following ethnic groups constitutes the single largest in the US ?
(1) Greek - Americans (2) German - Americans
(3) Maxican - Americans (4) Cuban - Americans
61. Match the following given in List - I (US Presidents) with List - II (Domestic Policy/
Programmes) with the help of the codes given below :
List-I List-II
(US Presidents) (Domestic Policy/Programmes)
(a) W. Wilson (i) War on Poverty
(b) H.Hoover (i) War on Cancer
() R. Nixon (iii) The New Freedom
(d) L. B. Johnson (iv) Boulder - Canyon Project
Codes
(@ (b) (o) (d)
L Gv) @) @ ()
(2) @@ @) @) @0
() @) (@Gv) () @)
@ @ @ @G) (@)
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58. Y TF AT o &7 Hiddl hl HFw & EN W AW A | 1< 5 T8 F2 1 7400 w4

U Hafeyd $IfST :
(a) Y HFamm
(c) HER TR

(b)
(d)

()
4)

TSt Gt ATet
=1 5. faoad

59. frfafed # 9 fords a8 we o1 T ' goh 3TR &9 1 gean ufaeast 1 Y& eH 1 99 9iaes

%H ?
1) &0 fefEsr
(3) M e

()
(4)

a1 d. gfémen
TEq. FRA

60. TTeifeRd B | HH Fga T SRR | SThell Hod g1 Jodd 9 § 2

(1) e - TR
() Hfodgsd - sfaEa

()
4)

A - e
FEA - STHRERA

61. Gt -1 (J.TH.TLI) w1 et - 11 (3R Aifq/wiswa) o |1l 3fea e 1 T Hid gC gafad

HITST :

@ (b) (o) (d)

) (v) (@) @) (D)
) (@) @) () (
) () @(v) @) @
(

) Q) (i)  (iii)
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62. Identify the place among the following with the worst rate of homelessness in the US.
(I) New York (2) IOWA
(3) Hawaii (4) Utah
63. Point out the dominant religion in Latin America as given below :
(1) Liberation Theology (2) Catholic Christianity
(3) Protestants (4) Judaism
64. Match the following Personalities given in List - I with their respective Countries in List - II
with the help of the codes given below :
List-I List-II
(Personalities) (Countries)
(a) Diego Rivera (i) Colombia
(b) Patricio Aylwin (i) Guatemala
(c) Pablo Escobar (iii) Chile
(d) Rigoberta Menchu (iv) Mexico
Codes :
(@ (b) (o) (d)
W (v @) 0 G
@ W) ) @ 0
@) G @ @) (@)
@ O @ (v )
65. Chronologically arrange the end of dictatorships in Latin America in an ascending order
and use the codes as given below :
(a) Argentina (b) Chile
() Guatemala (d) Nicaragua
Codes :
1) @) () (b) (d) 2)  (d), (@) (b) (¢
(3)  (b), (d), () @) 4) () (b) (d), (@)
66. Which one of the following relates to the Estrada Doctrine propounded by Genaro
Estrada ?
(1) Ideals of trade policy (2) Ideals of foreign policy
Ideals of domestic policy (4) Ideals of diplomacy
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62. TIF ToF TR § Tefoda ail #1 < o we =1 § | el § 2

(1) =3I (2) oTE.S.TKAT,
(3) ®Tm® 4) ww®
63. WifeT R & & A o &1 fye god €, 3T Hife
(1) Taewm fasiarst ) wifasw fwfreafe
(3) weRe (4) ETER

64. EIT - 195T Al 1 Gt - I H 3 T 37 39 % 91y feu U fe #1 #Aeg & gafea Hif :

et - 1 Tt - 11
(=t ) (gr)
(a) Tegm few (i)  RrcAfErE
(b) TEfES sterfom (i) T[T
(c) Teel SHHIER (iii)  fereft
(d) foieetd= (iv) Hfemel
e :
@@ (b)) (9 (d)
1 Gv) @) @ G
(2) @) (@v) @) @)
G) G (@) @) ()
(4) (1) @) (v) (i)

65. FEd HICHA F TR Wfed TR § TARMRT & foas &1 & T FIe o1 T a2 =afed
FITY :

(@) I (b) Tactt

(c) AT (d) TrREen

< :

1 (@, (@, (b), (d) 2) (d), (@), (b), (c
3)  (b), (d), (c), (a) 4) (o), (b), (d), (a

66. Trefafad § @ oF SR TEel g yiquifed TeeT fagr & defa €2
(1)  efee =R Hifd ) eyt forw Hifa
(3) orreEl sy ifd (4)  Fed T
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67. By 2012, which 3 states were headed by women Presidents ?
(1) Panama, Mexico, Peru (2) Costa Rica, Argentina, Brazil

(3)  Chile, Colombia, Uruguay (4) Paraguay, Nicaragua, Honduras

68. As part of economic reforms, who for the first time, abolished the Mexican ‘ejido system’ ?
(1) Miguel de la Madrid (2) Felipe Calderon

(3) Carlos Salinas (4) Pena Nieto

69. Banana Wars refer to one of the following events :
(1) War between Germany and US
(2) War between Spain and US
(3) War between South America and the Caribbean states

(4) US intervention in Latin America

70. Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : The Mexican President undertook a conflict of interest investigation as a
part of anti - corruption measures triggered by revelations that he benefited
from government contracts.

Reason (R) : The President tried to re-establish his credibility and popularity which had
been severely affected by scandals and public anger over rising number of
crimes.

Codes :

(1)  (A) is correct, but (R) is not correct
(2) (A) is not correct, but (R) is correct
(3) Both (A) and (R) are correct

Both (A) and (R) are incorrect
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Read the following paragraph and answer the following questions from 71 to 75 :

In the geo-economic perspective, a trade deficit is intrinsically undesirable not because
of its domestic employment effects, but because the state becomes dependent on the imports
of goods and money and therefore vulnerable to foreign threats.

For economic hawks the post-cold war era has not meant the end of the fundamentally
antagonistic basis of inter-state relations. States are seen as continuing to measure their relative
military power against that of other states, and continue to want to minimise their strategic
dependence on resources controlled by other states. Under this logic also, economic
interdependence is not something to be welcomed, because the more intertwined the economic
destinies of states are, the less individual states are in a position to dominate outcomes.

There are particular concerns with the possibilities of economic dependencies within
the global market and security of supply generally, particularly when they relate to products
such as oil, whose levels of production and distribution can be manipulated for political
purposes. Geoeconomic thinking encourages the idea that international trade is a zero-sum
conflict and emphasizes factors that relate to the “threat” of relative economic decline vis-a-
vis other countries, rather than a concern with the national welfare effects of absolute
economic performance.

At the centre of this perspective is a continuing adherence to the idea of the state as the
focus of analysis, and of trade and financial movements being seen in almost zero-sum terms.
It is the health of the state and its economic and political structures that is the cause for
analytical concern, rather than the existential well-being of the human-beings who compose
the state’s population. In relation to international politics, it is a perspective with significant
policy implications, since it promotes economic confrontation and protectionism. It would
weaken the security of states with transitional economies in the world by denying them to
exploit their relative advantages in order to achieve sustainable economic growth. In addition,
it would place additional obstacles in the way of developing states attempting to close the
gap with the west, thereby perpetuating poverty and injustice.

71. What is the geoeconomic perspective in the relationship between economics and security
that has become important ?

(1) It makes trade deficit necessarily avoidable.

(2) It resolves balance of payment problems and lends credence to less export and more
import.

(3) It over shadows domestic employment and increase in outside work force.

(4) It gives the state a tangible ability to use its economic capacity as an instrument of
policy to deal with foreign threats and internal challenges.
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frefafaa sig=eg ®1 feT 3k 39 714 7T 7T 3991 & 71 T 75 F IR o :
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72. Under which one of the following logics, economic interdepence is not desirable ?
(1) Geoeconomics has created a more peaceful basis of inter-state relations.
(2) Role of military is relatively not recognised.

(3)  States are involved to measure their relative military power, alongwith their willingness
to minimize their strategic dependence on resources controlled by other states.

(4) Economic behaviour is not related to the destinies of individual states.

73.  When does geoeconomic thinking support the possibilities of economic dependencies ?
(1) It encourages international trade as zero-sum conflict.
(2) Diminishing return is channelized.
(3)  Security of supply is not threatened.
(4)

4 National welfare is ensured.

74. Trade and financial movements are seen in almost zero-sum terms for which one of the
following factors ?

(1) The state remains strong, along with its economic and political structures.

(

2)
(3) Public fear increases.
(4)

Well-being of the population remain in jeopardy.

Public order is overtaken by law and order.

75. Which one of the following is not identified as the implications of geoeconomic perspective
in the realm of international politics ?

(1) Economic confrontation and protectionism remain unavoidable.
(2)  Security of the states and transitional economies in the world are seriously weakened.
(3) Relative advantages of sustainable economic growth are very often denied.
(4) The obstacles of removing poverty and injustices in the developing world are finally
disappearing.
-00o-
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Space For Rough Work
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